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The Trunk                                     p-values in ( ) connect Tertiary Branches to the previous, larger Branch before:
The 1st Tertiary Branch:     1 UPPER BLUE(5)–––1 MIDDLE RED(5)–––1 UPPER BLUE(5) 
The 2nd Tertiary Branch: 3 UPPER(13) –––––– 3 MIDDLE(29) –––––3 LOWER(17)  
The 3rd Tertiary Branch: 9 UPPER(25)(73)(53)––9 MIDDLE(85)(169)(89)––9 LOWER (65)(97)(37)
HERE IS THE NEW TREE: EXACTLY THE SAME BRANCHES ONLY ORDERED BY THEIR "s" & "ƒ" VALUES!
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U / c = p
5 / 5 = 1

65 / 13 = 5

145 / 29 = 5

85 / 17 = 5

325 / 25 = 13

949 / 73 = 13

689 / 53 = 13

2465 / 85 = 29

4901 / 169 = 29

2581 / 89 = 29

1105 / 65 = 17

1649 / 97 = 17

629 / 37 = 17

1025 / 41 = 25
3425 / 137 = 25
2725 / 109 = 25

14965 / 205 = 73

31025 / 425 = 73

17009 / 233 = 73

10229 / 193 = 53

16165 / 305 = 53
6625 / 125 = 53

14705 / 173 = 85

40885 / 481 = 85
28645 / 337 = 85

85345 / 505 = 169
166465 / 985 = 169

86021 / 509 = 169

31061 / 349 = 89
44945 / 505 = 89
16465 / 185 = 89
9685 / 149 = 65

24245 / 373 = 65
15665 / 241 = 65

29585 / 305 = 97

54805 / 565 = 97
26869 / 277 = 97
5809 / 157 = 37
7585 / 205 = 37

2405 / 65 = 37
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c-b=s

c-a=t

b-a=ƒ=t-s

ƒ+(c-b)=t-s+s=t

ƒ+s=t

r-PATTERNs:  (r-middle) - (r-upper) - (r-lower) = r previous for ALL UPPER, MIDDLE & 
LOWER Branches and, for any given MIDDLE Branch, its own s=UPPER t  and t=LOWER t 

U=s²+t²=cp 
 
p=U/c

Dividing U by c
equals p.

Each Tertiary
Branch segment
has the SAME
p-value. 

That p-value 
relates back to 
the previous, 
larger Branch 
from which it 
came.


